CAPF. EXAM-201S

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO)

T.B.C. : B-AXOC-0-JCK Test Booklet Series

r o
TEST BOOKLET
PAPER I : GENERAL ABILITY AND INTELLIGENCE

.

[Time Allowed : Two Hours] ' ' [Maximum Marks : 250]

&

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/discrepancy
will render the Answer Sheet liable for rejection. '
You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 125 items (questions). Fach item is printed both in Hindi and ~
English. Each item comprises four responses (answers). You will select the response which
you want to mark on the Answer Sheet. In case you feel that there is more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE
response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See
directions in the Answer Sheet. '

All items carry equal marks. :

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some articulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate. -

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer Sheet.
You are permitted to take away with you the Test Booklet. _

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers : _

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE

IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each uestion for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer cven
if one of the given answers happens to be correct and there will be same penalty as
above to that question. _ :

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

[ DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO)

B ¥ oy W B ' o gRew # fed g W oW 2

. |




The setting up of the Inter-State Council in
1990 was meant to :

(a) substitute the National Development
Council.

(b) strengthen the federal provisions of the
Constitution.

(c) be an institutional interface between
the Judiciary and the Government.

(d) provide membership to local

customary bodies.

Which one of the following is NOT a
Central Paramilitary Force under the
Ministry of Home Affairs ?

(a) Central Industrial Security Force
(b) Central Reserve Police Force
(¢) Ladakh Scouts

(d) Border Security Force

The following item consists of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

~(a) Both the statements are individually

true and Statement II is the correct
explanation of Statement |

(b) Both the statements are individually
true but Statement I is NOT the correct
explanation of Statement I .

(¢) Statement I is true but Statement II is

false

(d) Statement I is false but Statement II is
true

Statement I : India’s share of world

manufacturing  output
steadily declined during the
19" and the 20* centuries.

There was no absolute
decline in production in
India during the colonial
rule.

Statement 11 :

*hD

4,

The Comptroller and Auditor-General of
India can be removed from office only by :

(a) President on the advice of the Union
Cabinet.

(b) Chief Justice of the Supreme Court.

(c) President of India after an address in
both Houses of Parliament.

(d) Presidenton the advice of Chief Justice
of India.

Which one of the following is under the
control of the Ministry of Defence ?

(a) Indo-Tibetan Border Police
(b) Rashtriya Rifles

(c) National Security Guard
(d) Sashastra Seema Bal

Which of the following statements with
regard to construction of railways in colonial
India by the British companies is /are NOT
true ? ' '

1. The companies were guaranteed a
retum of 5 per cent on their investment
by Government of India

2. The railways were to be managed
mainly by the Government

3. There was no system of preferential
freight charges

4. The companies were to get the land
free from the Government

Select the correct answer using the code

given below :

(@) land3

(b) 2and 3 only
(c) 4only

(d) 2,3and4 |
(Contd.)
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7.

According to Granville Austin, which of the
following was / were the most significant
contributions of India to constitution-
making ?

(@) Majority rule and minority rights
(b)
©

Consensus and Accommodation

Social revolution and Political
Freedom

(d)
Jammu and Kashmir Light Infantry is :

Asymmetrical Federal structure

{(a) A Central Paramilitary Force

(b) A force maintained by the state of
Jammu and Kashmir

(c) Aregiment of the Indian Army
(d) None of the above

Which of the following represents the main
phases of the Quit India Movement ?

1. Strikes, boycotts, and picketing in
urban centres

2. Widespread attacks in rural areas on
the many symbols and means of
colonial rule and authority, e.g.

telegraph

Government buildings

railways, lines, and
3. Formation of Home Rule leagues

4. The ‘Kamataka method’

Select the correct answer using the code

given below :
(a)
(b) 2,3and 4
(c}y 1,2and4
(d)

1 and 2 only

1 and 4 only

G

10. The Special Provisions in Article 371G of

11.

12.

* 5

13.

the Constitution of India reiate to the state
of :

(a) Jammu & Kashmir
(b) Jharkhand

(c) Mizoram

(d) Nagaland

Who among the following resigned from his
post in the year 2014 ?

(a) Chief of the Air Staff

(b) Chief of the Naval Staff
(©)
(d)

Which of the following was / were NOT
part/parts of the RIN Mutiny ?

Director General Coast Guard

Chief of the Integrated Defence Staff’

1. Indian National Army

2. HMIS Talwar

3. Hunger strike by naval ratings
4. Lord Irwin

Select the correct answer using the code
given below :

(a) 1and?2
(b) 2and3
(c) land4
(d) 4 only

The tocus standi rule to move the court was
liberalized by the case of:

(a) S.R. Bommai v. Union of India

(b) Minerva Mills v. Union of India

(c) S.P. Gupta v. Union of India

(d) Kesavananda Bharati v. State of Kcrala
(Contd.)
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14.

15.

Who heads the Defence Acquisition
Council ?

(a) Defence Minister

(b) Defence Secretary

(c) * Chief of the Integrated Defence Staff
(d) Director General (Acquisition)
Balgangadhar Tilak was associated with :
1. Poona Sarvajanik Sabha

2. The Age of Consent Bill

3. Gaurakshini Sabha

4. Atmiya Sabha

Select the correct answer using the code
given below :

(a) 1and2only
(b) 1,2and4
(c) 3and4

(d) 2and 4 only

16. The provision under Article 350A of the

17.

Constitution of India relates to the :

(a) right of any section of the citizens to
preserve its distinct language and
culture :

(b} night of the Sikh community to carrying

and wearing of kirpans

provision for providing facilities for
instruction in mother-tongue at primary
stage

(©)

(d)
educational institutions from
discrimination in the matter of
receiving aid from the State

The equivalent rank of Commodore of
Indian Navy in the Indian Army is :

(a)
(b)
(c)
(d)

Brigadier
Lieutenant Colonel

Colonel

Major General

freedom of Minority-managed

* N

18.

19.

The proposals of the Cabinet Mission did
NOT include :

1. a three-tier structure for the Union of
India, with both the Provinces and the
Princely States

formation of a Constituent Assembly

creation of a sovereign Pakistan with
six Muslim-majority provinces

Select the correct answer using the code
given below :

(a) land3
(b) 3 only
(c) 2only
(d) land2

Which of the following are provided in India
by the Right to Education Act ?

1. Right of children to free and
compulsory education till completion
of elementary education in a
neighbourhood school

2, Prohibition of deployment of teachers
for non-educational works, other than
decennial census, elections to local
authority like State Legislatures,
Parliament, and disaster relief

3. Right of minorities to establish and
administer education institution

4. No citizen shall be denied admission
into any educational institution
maintained by the State or receiving aid
out of State funds on grounds only of
religion, race, caste, language or any
of them

Select the correct answer using the code
given below :

(a) 1,2and4
(b) land3
(c) 2and4 only
(d) 1and2only
(Contd.)
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20,

21.

22,

INS Vikramaditya is the name of :

(2) an aircraft carrier

{b) anuclear submarine

(c) amemorial for the sailors
(d) anaval hospital

Which one of the following statements

concerning the Freedom and Partition of

India is NOT correct ?

(a) In February 1947, British Prime
Minister Attlee announced that the
British were not going to transfer
power to Indians, come what may

Lbrd Wavell advocated total
withdrawal of the British from India
by 31 March, 1948

(b)

It was Lord Mountbatten who speeded
up the process of transfer of power

(d) The Plan Balkan was abandoned on
account of Nehru’s opposition to it

(©)

According to Article 3 of the Constitution
of India, the Parliament may by law :

1. declare war on any country

2.  alter the boundaries of any State
3. increase the area of any State
4

establish an Autonomous Council
within any State

Select the correct answer using the code
given below

(a)
(b)
(c)
(d)

3 only

1,2 and 4

2 and 3 only
1,2and3

»* 00

23.

24.

Which one of the following best describes
the Andaman & Nicobar Island Command ?

(@)
(b)

A cyber security command

A unified command comprising Army,

Navy, Air Force and Coast Guard
(©)

A unified command comprising Navy
and the Coast Guard

One of the commands of the Indian

(d)
Navy

Match List-I with List II and select the
correct answer using the code given below
the Lists : '

List-1 List-HI
(Peasant (Leader/
Movement) Follower)
A. Bakasht Land 1. Baba
Movement Ramchandra

B. Eka Movement 2. Kunhammed Haji

C. Mappila 3. Madari Pasi
Rebellion
D. Avadh Kisan 4. Karyanand
Sabha Sharma
Movement
Code :
A B C D
(a 4 3 2 1
by 4 2 3 1
) 1 2 3 4
d ! 3 2 4
(Contd.)
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25.

26.

27.

Which of the following committee/
committees submitted reports on Electoral
reforms ?

1. Dinesh Goswami Committee
2. Tarkunde Committee

3. Indrajit Gupta Committee

4. Balwantrai Mehta Committee

Select the correct answer using the code
given below :

(a) 1,3and4

(b) 2and4

(¢) 1,2and3

(d) 3 and 4 only

BrahMos is the name of :

(a) ashort-range supersonic cruise missile

(b) an air defence gun

(c) amilitary satellite

(d) a multiple rocket launcher

Match List-I with List-II and select the
correct answer using the code given below
the Lists :

List-1 List-11
(Movement) (Mass base/
Following)
A. Bardoli 1. Bargadars
| Satyagraha
B. Tebhaga 2. Kaliparaj
C. Satyasodhak 3. Mundas
Samaj
D. Ulgulan 4. Kunbi peasantry
Code : .
A B C D
(a 2 4 1 3
by 2 1 4 3
(¢ 3 4 1 2
d 3 1 4 2

28.

29.

30.

Under Article 355 of the Constitution of
India, it is the duty of the Union to :

(a) protect States against external

aggression and internal disturbance

allow the extension of executive

(b)

powers of the Union to any State

(c) declare that the powers of the
legislature of a State shall be
exercisable by or under the authority

of the Parliament

allow the Parliament to include or

(d)
exclude any caste. race or tribe into the
list of the Scheduled Castes or
Scheduled Tribes

The present cap (as on 01.01.2015) on
Foreign Direct Investment in the defence

sector is :
(a) 26%
(b) 49%
(c) 74%
(d)

Who functions as chairman, Chiefs of Staff

100%

Committee ?
(a)
(b)

Defence Minister

The longest serving Chief among the

Chiefs of the three services
(©)
(d})

The Chief of Integrated Defence Staff
The Chief of the Army Staff

(Contd.)
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31.

32.

33.

Which one of the following was NOT the
feature of the- Home Rule movement in
India ?

(a) Boycott and Picketing

(b) Two separate Home-Rule Leagues
rather than one All-India Home-Rule
Organisation

(c) Setting up of discussion groups and
reading rooms

(d) Sale and circulation of pamphlets

The 2™ Administrative Reforms Commission
has produced Reports on :

1. Ethics in Governance

2. Local Governance

3. Combating Terrorism

4.  Eradication of Corruption

Select the correct answer using the code
given below :

(@ 1,3and4
() 2,3and4
(¢) 1and?2 only
d) 1,2and3

All proposals for acquisition of weapon
systems involving capital expenditure of
more than Rs 1,000 crore require the
approval of the :

(a) Defence Minister
(b) Prime Minister

(c) Cabinet Committee on Economic
Affairs

(d) Cabinet Committee on Security

34,

35.

36.

Which one of the following statements is
correct ?

(a) Indiais the largest importer of defence
equipment in the world

(b) The United States of America was the
second largest exporter of defence
equipment to India in 2014

(c) Russia has stopped exporting defence
equipment to India

(d) India meets not more than 25 per cent
of its requirement of defence
equipment through import

In 1893, there occurred a split in the Arya
Samaj on the issue(s) of :

1. Meat-eating vs vegetarianism

2. Caste system and widow remarriage
3. Shuddhi of converts

4.  Anglicised vs Sanskrit-based education

Select the correct answer using the code
given below :

(a 1,3and4

~(b) 2and4 .

{c) 1 and4only
(d) 1only

The National Human Rights Commission
has :

1.  a Chairperson who has been a Chief
Justice of Supreme Court or a High
Court of India

2. one Member who is or has been a
Judge of Supreme Court

3. one Member who is, or has been the
Chief Justice of a High Court

4. two Members to be appointed from
amongst persons having knowledge of
or practical experience in matters
relating to human rights

Select the correct answer using the code
given below :

(a) 1,2,3and 4
(b) 1,2and3 only
(¢) 1and4only
(d) 2,3 and4only

(Contd.)




31.

32.

33.

L

frafafes ¥ § #19 & &, o ¥ 2w
®d IR & e @ o4 7

(a) fsFT qur goaT

(b) & A wRdW AW ®A FIeA F
WA 9T Q) YuF B &

() wof @q@ qm areeR # T

(@) YRl @dew) 7 R qun Ra

ey yomafrs gur s 3 B fay

vt @ dge & € 7

I wwa # smEr-Afy

2. @y e

3. IAHATE B FHAT HIAT

4. YRR F IF@A

A Ry T %z & W@ FT @ I
9fro |
(@ 1,33 4

(b) 2,337 4

(c) #ad 1 3 2

(d) 1,23 3

T 1,000 F03 & g ama & gg yonferdt

F Jftwew F gt ward Y FES e
F JETFAT BT B 7

(a) @A
(b) waFHA
(c) uftfs amet N whmedw wffy
(d) g "l AN ABwshw affy

34, Pefafad # @ 19 @1 @& Fu7 @l 27

35.

36.

(a) wrta, fagg & & Suswl & ged
3T IR 2 B |
(b) 2014 % HYF TS FHOF ART
& Iuwwn @ Pufa @ aen
CGRUIECIC ST B

(c) & T WA H W IR Fl
frafe 7 @€ +¢ fRar 2

(d) AT T&T IYSRON d ITAT SMgvERar
1 JfErhaa 25% & IWd @ g
FXAT B

1893 % fara/f& fawy/fawdY g1 smd qarw
¥ fawe gam ?

[ WEBR a9 WHEER

wife egaedr qur Rgar gafdas
mriia =afRm # yfa
FiTclipd T wEpd i fren
e Ru mg 7 & @ w1 8@ Ia]
e

(@ 1,33 4

(by 230X 4

(c) dad 13X 4

(d) Fad 1

TS ATAI-HFT s F
1. TF JE BT 8, W WIkd ® IvudH
T Igar Y 39 Ay @

Ter Al ® g A

2. UH §IW@ BAT B, W I=4GH gl
F EE @ ywa w OqE @

3. T 93" BT B, S R 37w ey
w gar A & FuEr w gE B

4. @ wew B9 B, R Prgil e
wRdl #F o Bt @R & R
AAEHR /@ dsfd amel a1 s
8 U rEEiE ¥{Hd

R T 1T %5z &1 3@ T G I

I

(@ 1,2,33R 4

(b) Fad 1,2 T 3

(c) Fad 1 dx 4

(d) Fad 2,33 4

B W

(Contd.)




37.

38.

39.

40.

4].

GRSE, BDL and MIDHANI are acronyms
of .

(a) Defence Public Sector Undertakings
(b) Chemicals used for making rockets
{¢) Ammunition used in tanks

(d) Communication satellites

President’s Bodyguards is :

(a) apolice force under the control of the
President’s Secretariat

(b) a paramilitary force
(c) aunit of Delhi Police
(d) none of the above

Where and when did Mahatma Gandbhi first
use his method of hunger-strike to achieve
a desired goal ?

(a) At Natal in South Africa in the year
1906

(b) At Champaran in the year 1917
(¢) At Ahmedabad in the year 1918

(d) At Cape Town in South Africa in the
year 1906

Who among the following has authored the
book ‘The Idea of India’ ?

(a) Khushwant Singh
(b) Shashi Tharoor

(¢) Sunil Khilnani

(d) William Dalrymple

Who is the Supreme Commander of the
Indian Armed Forces ?

(a) President
(b) Prime Minister
(c) Defence Minister

(d) Longest serving Chief of Staff

42.

43,

45.

‘Cheetah’ and ‘Chetak’ are the names of :
(a) Fighter aircrafts

(b) Helicopters

(¢) Armoured vehicles

(d) Infantry regiments

Border Roads Organization is under the
administrative control of the :

(a) Ministry of Defence

(b) Ministry of Road Transport and
Highways

(c) Prime Minister’s Office
(d) Indian Army

Which of the following were the main
influences on Vasudeo Balvant Phadke ?

1. Experience of the Deccan famine of
1876-77

2.  Hindu revivalism
3. Theory of Drain of Wealth
4, Reformist idea of Phule

Select the correct answer using the code
given below :

‘(@) 1,2and3

(b) 2,3and4
(c) 1and3 only
{(d) 2and4 only

The Punchhi Commission report was related
to:

(a) Centre-State relations
(b) Electoral reforms
(c¢) Fiscal federalism

(d) Creation of new States

(Contd.)
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37.

38.

39.

40.

41.

GRSE, BDL @41 MIDHANI fa® uftauif
weg (Ufm) & 7

(a) 9dstE &7 B T IJIHA

(b) TEe-Faf ¥ ygE WA

(¢) TH ¥ yga MAI-aTE]

(d) §IR-IuUE

wseufa F HIRES’ Fur g7

(a) Tegufd-wfaem & Praamda gt
L)

(b) A+ =@

(¢) Reht gftm ' @& gz

(d) SRR ¥ P T

v e A, Fifod Sww A e

fore, spa-gsad A At wgfy #1 gdwaw

ggr w8l I} w9 fEar a1 ?

(a) T Al F AT N a8 1906 X

(b) TRH ¥ af 1917 A

(c) ¥paTEe ¥ ad 1918 &

(d) =BT e F HY e H oad
1906 &

frafafes & & et R swfRRw e

W TEw g ot 807

(a) Guara fdE

(b) wfdr =ex

() g fwarh

(d) falmm Iafoa

I 6o {960 & §dfsg FHIST

BT 8 7

(a) rguf

(b) YuTAHA

(c) T&THHA

(d) 998 @ YWY 9% JI@ AATEE

42,

43,

44,

45.

R qur Fad' HAd oam g ?

(a) Y&+ amgur

(b) Befmie

(c) FEXErs MiSAT

(d) ¥ T (FHQ)) ¢ We
M g3% wmeA fhas gamafs s
& ¥4 B 7

(a) & FATH

(b) W% uR@e U TN HARH
(c) waAHA! Fmiay

(d) WRAE FadT

Freafofes & & #17 |, ages sw@=a
FEH UL YA A YH@ g9 o ?

. 1876-77 % =%7 ghlw = awa
2. fag qAwfmw

3. ot qvErE (37 I Iow) w1 i
4. FHI F gAREE fEnr

= Re 1 5z F w@m T w@ I
TP

(@ 1,23 3

(b) 2,33MT 4

(c) 339 1 3R 3

(d) Faa 2 3 4

gt st A RO fred wafa o
(a) P=F-Ts¥ Fg

(b) frafam gaw

(c) Ty wutsy vafa

(d) AT [ FHT HLA

{Contd.)




46.

47.

48.

49.

‘Demand Polity’ and ‘Command Polity’.are

terms associated with :
(a)
(b)
(c)

David Washbrook
Helen 1. Tinker

Lloyd I. Rudolph and Susanne
H. Rudolph

(d)
Which one of the following is the principal

Rajni Kothari

place of sitting of the National Green

Tribunal ?

(a) Kolkata
{b) Hydcrabad
{(¢) Lucknow
(d) New Delhi

In January 2015, Government of India
approved the establishment of a Neutrino
Observatory at :

(a) Bodi hills in Tamil Nadu

(b) Kaina hills in Manipur

(c) Jampui hills in Tripura

(d) Nallamala hills in Andhra Pradesh

Who among the following was NOT a

Communist leadet in colonial India ?
(a) P.C.Roy

(b) - S. A. Dange

(c) Muzaffar Ahmad

(d) Singaravelu

50. Who among the following were well known
as champions of women’s education in
colonial India ?

1. Sister Subbalaksmi

2. Begum Rokeya Sakhawat Hossain
3. Keshub Chandra Sen

4.  Ananda Coomaraswamy

Select the correct answer using the code
given below :

(@ 1,2,3and4
(b) 1,2 and 3 only
(¢) 3and4only

(d) 1and?2only

51. Match List-I with List-1I and select the
correct answer using the code given below
the Lists :

List- List-1I
(Person) (Political Party)
A.B.R. Ambedkar 1. Pakistan Muslim
League
B. Sikander Hayat 2. Krishak Praja
Khan Party |
C. Fazlul Huq 3. Unionist Party
D. Khaliquzzaman 4. Independent
_ Labour Party
Code :
A B C D
(a) 4 2 3 1
(b) 4 3 2 1
(© 1 2 3 4
@@ 1 3 2 4

(Contd.)




46.

47.

48.

49.

feats it qen ‘swis wiferd)’ fHwd
gafg weg & 7

(a) s amwgs

(b) a7 €, fewx

(c) wius urd weteh qul GIH TA. TSTeH
(d) WA FErd

Prafafes ¥ & #f7 @1 , iy s
s (RwAd 9 fosgad) a1 yare
b w1 w7

(a) HAS@I

(b) B&UEmRE

(c) Tq@TS

(d) 7§ fwch

IR §IHR 7 S99 2015 7 fhg wamA
YT AR A Jgaren A O RS
& 7 '

() ATy H At verdar

(b) WRTYT # Frem gErSHl

(© frgu & wge wefewr

(d) FgwRw F Feawrar verfsat
Preafafes & & #1, SPrf W ¥
grgaret Aqr (Fgfaee oisT) 7@ ar ?
(a) Tl g

(b) wRU =M
(¢) HIFHT 3IEHG
(d) Rymaag

[ IR —D—————S,

50. freafofan & @ 97, Suf4alRe wRa #

et frem S48 gana owgy /4 ?
1. e geash

2. AW A g@Ed gl

3. ®wE 9% 49

4 WW

A Ru mu w2 & w@m $T F8 IR
gfg -

(@) 1,2,33AT 4

(b) Faw 1,2 33

(c) Faa 3 3T 4

(d) #ad 1 X2

51, gA-1F gE-11 & gafm Hferg qun gfm)

# A Ry e 7 w1 w@m FT g8 I
LRI
GEid

g1
(aaf¥) (T ifa® &)
A, ST FFETH 1. TiiehedE Jfeed
G
B. Rz g 2. Fuw war ordf
o1
C. T9IF &F 3. ghrafree ot
D. weliddsH 4. RIS qT
qref
7T
A B C D
(@ 4 2 3 1
® 4 3 2 1
€ 1 - 2 3 4
@ 1 3 2 4

(Contd.)




52.

53.

54.

55.

(©)

The term “Congress System’ was coined
by : -

(a) D.L. Seth

(b) Rajni Kothari

(¢) James Manor

(d) Christophe Jaffrelot

Under Section 10(26) of the Income Tax
Act, which of the following category of
people are exempted from income tax 7 -

(a) Members of the Scheduled Tribes in
Chbhattisgarh

Members of the Scheduled Tribes and
the Scheduled Castes in Special
Category States

(b)

Members from the Economically
Backward Class in All States

Members of the Scheduled Tribes in
States of Manipur, Mizoram, Nagaland
and Tripura

The 9" Schedule to the Constitution of India
was added by the :

{a) Third Amendment Act
(b) Fourth Amendment Act
{c) First Amendment Act
(d) Sixth Amendment Act

Which one of the following statements with
regard to the Union Budget of India for the
year 2015-2016 is NOT correct ?

(a)

(d)

India Financial Code to be introduced
soon in the Parliament

(b)

Allocation in defence sector is kept
unchanged at around 5 % of GDP

A Student Financial Aid Authority will
be instituted

(c)

(d)

No change in the rate of personal
income tax

56.

57.

58.

59.

In order to create awareness among the
people regarding endangered species of
tortoise, in the month of February 2015, the
third Tortoise Festival was held at :

(a)
(b)
(c)
(d)
Which one of the following Grand Slam
Tennis Tournaments had the highest total

prize money (in terms of US Dollars) in the
year 2014 ?

(a)
(b)
(c)
@

Which one of the following statements about
the Gandhi-Irwin Pact is NOT correct ?

Hajong Lake, Assam
Chilka Lake, Odisha
Loktak Lake, Manipur
Umiam Lake, Meghalaya

Australian Open
French Open
Wimbledon

US Open

(a) Gandhi wrote a letter seeking an
interview with the Viceroy

Civil Disobedience movement was to
be discontinued

(b)

(c)

The imprisoned freedom fighters were
to be released

All the lands that had been confiscated
were to be returned to the original
owners

)

Which one of the following is believed to
be a compilation of the psalms sung by the
women ?

(a)
(b)
(c)
(d)

Sumangalavilasini
Therigatha
Stridharmapaddhati
Ritusamhara
(Contd.)
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52.

53.

54,

55.

L

FY Rrew’ oo oA e @ ?

(@) Q. &3

(b) W Hrer

(c) =g AT

(d) Frees Smhe

e I # ara 10(26) F A=

Preifem & @ fre A (@24) &

afkml N ymH § g & ;7

(a) &g ¥ srgfen weerfodl &
qey

(b) Fr Soft & wodt ¥ srgfaa iy
T FTgiEd gl § wae

(c) @t el ¥ affe wv ¥ Re af
F g

(d) wPrr, Prdm, A @@ B

el # g aenfodl # 9
aRd & wiewr A A4 IR few
gmge sfufreg g 9 08 ?

(a) Ty "wmgT A

(b) Du g AfHFEw

(¢) veaT ®WWNET fEfraw

(d) B Mg AHFrow

YRA # a8 2015-16 # €9 & a9 &
TR ¥, Prafefeg ¥ @ 919 @1 & S99
wE e g 7

@) w93 ¥ wrdw fa wfea B &

gtwﬁaﬂﬁmwﬁ

(b) & &F F F&ed, W1 GDP

T 5% 8, sufafda war T @
(c¢) o= fag gemwar witewn wflg

favar smam
(d) o s A 7 F Aé oRkada

TEt 2

56.

57.

58.

59.

FAaT ¥ FEA W gHe wfnlie d ufd

AR I FEA P W wREd 2015

# e Fga wEewd B i W) i

fFm M oar ?

(a) BT S|, @R

(b) Faear #itw, Afdmm

(c) dwead Ad, AR

@) 3P A, Ao

Prefofes ¥ @ B o s @ 2P

TAatiT # & 2014 ¥ Fa R oW

(US ok &) wed 3fts &t ?

O REICARCERE L

(b) w9 T

(c) Faraasa

(d) US 3=

mf-gfam gwsltar & s ¥ Preafafae ¥

] F W UF FUq GE T 8 7

(a) TN A AARTT P Y FEAGHR AQ
B¢ s uA R

(b) W@ W IRET FH ogAG fFm
AT o

(c) FRIEWE ¥ &% W@aaar a8 # |3
ST o

(d) " Iftgd Y @ @@ &
agg drers S 4

Prafafes & @ Bg & & aX ¥ w8

fvare o smar 2 & @@ oy g omu

WA 9@ W # Us 87

(a) FHTTIEEA

(b) Afam

(c) eNadugfy

(d) HgHer

(Contd.)




60. The Rajya Sabha can withhold its consent

61.

62.

to a Money Bill for ;

(a) 14 days

(b) 15 days

(c) 30days

(d) 18 days

Which of the following reasons were cited
by the Ashok Mehta Commitiee for the

decline of the Panchayati Raj Institutions
in India ?

1. Role of Bureaucracy

2. Lack of Political Will

3. Lack of conceptual clarity
4. Lack of gender parity

Select the correct answer using the code
given below :

(a) land4

(b) 2and3 only
(c) 1,2and3
(d) 2,3and 4

Which one of the following statements with
regard to the Saansad AdarshGram Yojana
1S NOT correct ?

(@) It was launched in the year 2014 on
the birth anniversary of Lal Bahadur
Shastri

(b) Members of the Parliament will adopt

villages to create model villages .

(c)

District Magistrates will act as
coordinators

A Rajya Sabha MP has to choose a
Gram Panchayat in the State from
which he or she was elected

(@

63.

64.

65.

Which one of the following statements with
regard to the ‘Make in India’ initiative of

the Government of India is NOT correct ?

(@) Inorder to guide the foreign investors,

a body named ‘Invest India’ has been
created

(b)

The Government has identified key
sectors with potential to attract

investment

(c)

The initiative also aims to identify
selected domestic companies having
leadership in innovation and new
technology for turning them into global

champion

(d)

The programme is being implemented

by the Ministry of Finance
Amarasimha is the name of a :
(a) famous lexicographer of ancient India
(b) Rajput king of Chalukya lineage

(c) poet mentioned by Kautilya in his

Arthashastra
(d) dance form of Odisha
The Tolkappiyam is the name of :
(a) a step-well of Western India
(b) the book on Tamil grammar
(¢) acollection of Tamil bhakti poems

(d) acollection of Kannada poems

(Contd.)




61.

62.

60. TsueT g9 fa8us 9T v geafa fFaa

fl q% A% wHdt B 7

(a) 14 f&A

(b) 15 &7

(c) 30 fe=

(d) 18 faq

HId ¥ 99 T quEl @ s B g
yuE Aeq affa gra Prafafes # @
T ¥ IR FaQ M & ?
IRFr-dx N ffir
RERLCEECIIE S LI
HYCQUTHS (FAVIA) TICAT 1 IV
form wmer (Ssx AREA) 1 avma
M Ry T gz w1 owm Fw Fd Ia
i&fq:

(@) 130T 4

(b) Faa 23 3

(c) 1,23 3

@d) 2,33 4

wiag eyl uw Ao § wEa, Prefafea

& #9 @1 & Fu7 a8 ¥#F 2 7

(a) U8 a9 2014 ¥ wrEergL wed &
EUGIIC R ret B Sl

(b) ®We Wal @, IEA TH AR B
fere s

(c) Fren e womams @ w4 F
=

(d) TGEYT 3 |iEE F I§ W0 X @
f&f yw dema & gAE e
Rred 7z fraffee gan/gd 2

B W N

21

63.

65.

A @R F AF T 3w wa @

a4y ¥ Prefafad & @ &9 91 & 597

i (o

(a) faReht Rl &1 wuyeels 3
™R

(b) @R A I Y@ ¥ N waAH
a1 2 R fadeh faw &1 asiie
A B GIRE 2

(¢) 3@ e &1 W o qew B f& U
e uly Fbr o
s AR Tayada qu a2 el
H1 qE AQed & N I Aaw fadar
(ed M) 3 =9 § a7 &

(d) T8 sEFw faa dawm gra sEffad
B - w2

yrafis fraw AW & 7

(a) ¥ YRT F GRS HIER

(b) AT T BT TAYA T

(c) +fea gra s spfanen § Ifeafaa
w3

(d) aNfdwm =t g dH
dieeifggs fFaer A 2 2

(2) "R W ¥ wF 9Ed

(b) dffe TFHE W g

(c) @ Wi Ffaael =1 & e
(d) F3 FaaRN #1 U

(Contd.)
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66. Consider the following figure matrix :

ORVANEE
AR O
E'?

Which one of the following will complete

the figure given above ?

@ I \/

(®)

(c)

/\
/A
(d) E—

67. Consider the following figures :

68.

€ Ly O

-~ >

Q== A,

Ei }8 ®\9

Which of the following group(s) of figures
fit/fits into the same class ?

1. (1,7,8)
2. (4,5,6)
3. (2,3,9)

Select the correct answer using the code
given below :

(a) 1and?2only
(b) 2 and 3 only
(¢) 1,2and3
(d) 3 only

Various landforms observed on the surface
of the earth are due to the: -

1. differences in the type and structure of
the crustal material

2. differences in the land forming
processes

3. differential rates of the processes at
different places on the Earth’s surface

Select the correct answer using the code
given below :

(a) 1only
(b) 1and2 only
{(c) 2and3 only
(d) 1,2and3
(Contd.)




raffea ¥ 3 9 o1 & vt fad W
R &1 qu won ?

(@) W
(b) A
© | /a\
@ A

68.

il & Prefoféa wp/aE 7 § SFa/3
T & oaf A SR &Y Q1@ Adn ?
. (1,7,8)

2. (4,5,6)

3. (2,3,9)

A Ry M0 %z 1 w@m wROEd I
g

(a) ¥ad 1 X2

(b) Fad 2 AT 3

() 1,23 3

(d) ®ad 3

gl # FE 9. RW WA A fafye

Y-HfaE & FRO

[ -0 werd & ware iR d@emAr H
fr=ramd 8

2. y-Pmf & yfrmel & fraag 2
4-7s5 9T fafe sl g3 gl
s nfoat @

M Ry T Fz & w0 FT F IW

(Contd.)




70.

Under which of the following condition(s)
the occluded fronts are created ?

1.  When the front remains stationary

2.  When cold air mass moves to warm
air mass

3.  When warm air mass moves to cold
air mass

4. When an air mass is fully lifted above
the land surface

Select the correct answer using the code
given below :

(a) land2
(b) 2and3
(¢) 3and4
(d) 4 only

The following item consists of two
statements, Statement [ and Statement II.
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

(a) Both the statements are individually
true and Statement Il is the correct
explanation of Statement I

(b) Both the statements are individually

true but Statement I is NOT the correct:

explanation of Statement |

Statement [ is true but Statement II is
false

(<)

Statement [ is false but Statement Ii is
true

(d)

: Catalytic hydrogenation is
highest when the catalyst
remains in the powdered
form

Statement |

When a catalyst is in the

Statement I :
: powdered form, its surface

area becomes highest

71.

69.

Which one of the following statements

regarding baking powder is NOT correct ?
(a) Itis amixture

(b) It forms bubbles in a wet mixture

(¢) It can be used instead of using yeast

(d) Ttdoes not contain sodium bicarbonate

The next fwo (02) items are based on the

following Table :

The following table shows the frequency

distribution of weekly wages of 65 employees :

Wages (in Rupees) | No. of employees Il
251—260 8 |
261—270 10
271—280 16
281—290 14
291—300 10
301—310 | 5
31 l.—-320 2

72. What is the percentage of employees earning

* less than Rs. 301 per week but more than

Rs. 260 per week ?
(a) 61.5
(b) 76.9
(c) 89.2

(d) 84.6

{Contd.)
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69. Frafafes # ¥ fra/fra Rufa/fuafed

70.

# sfofase (sfeSs) aam gRa &
/e & ?

1. v& aam Rux war @
2. va ¥id arg wela, IwT Ay wefy A
A nfy w2

3. W& 9w a1g ¥efa, Wa ag "l &

A g FE R

4. w9 Oy welr Of &9 A 4y # wo
F I I3 VKT 2

R Re T iz & @ T @ I
%P -

(a) 132

(b) 233

(c) 334

(d) @ac 4

Preafafea g 9 < F99 8, F99-1

AR FA-I1 1 57 A FUAT F FEIES

e X 39 yeEiE & I A Ru

T FHZ H FEWAl ¥ AT

T

(a) QA FET FAT-IAT TF B, WX
FUA-]l, FUF-1 F GE TR
N _

(b) [ FUA FF-IHAT T B, g T
FYA-] F GE WEHOT 7€ 2

(c) ®u7-1 wew 8, g waa-11 smey 2

(d) Fg49-1 &<y 8, &g HaA-11 a9 @

FaA-] : IUF F qfild @ewm A wA

W I BRGAAIE fawdH
g @

woA-11 : Rt s & gfifa saen #

B T I Y Aot fRw
Bl Wl

71. *fFw wgsT @ wey F Pr=fafead sy
A FF 9 & GE T8 8 7
(a) 98 T P 2
(b) @& g M ¥ qogd aT@ 2
(c) TF IWM gAR (fee) & Wi |
frar s g@ar @
(@) @ afRww aEFEiic T A
e & (92) weAim Prafafen afee o
R 2

freafafea afoer & 65 sdaiay &t aafés
AgRA 1 ARERA-gA far T g o

ol (et ) | Rt A w@r
251260 8
261—270 10

271280 16
281290 14
291300 10
301—310 5
311—320 | 2

72. 9fs ¥<E 301 % § FH g 260% @
fF F A sl #1 gl w@
g7
(@) 615
(b) 76.9
(c) 89.2

(d) 84.6

(Contd.)
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73.

74.

75.

@

What is the difference between the
percentage of employees earning between
Rs. 261 and Rs. 300 per week and
employees earning less than Rs. 281 per
week ?

(@) 36.9%
(b) 153 %
() 24.6%
28.2 %

Which one of the following factors is NOT
connected with planetary wind system ?

(a) Latitudinal variation of the atmospheric

heating

(b)
(c)
(d)

Emergence of the pressure belt
Earth’s revolution around the Sun

Migration of the pressure belts due to
apparent path of the Sun

Match List-1 with List-II and select the

correct answer using the.code given below
the Lists :

List-1 List-1T
(Volcano type) (Location)
A. Shield Volcano 1. Indonesia-
B. Composite 2. India

Volcano
C. Caldera 3. Hawaii
D. Flood Basalt 4. Philippines

Provinces
Code :

A B C D
(ay 2 4 1 3
b 2 1 4 3
) 3 1 4 2
d 3 4 1 2

76.

77.

Match List-I1 with List-IT and select the
correct answer using the code given below
the Lists ;

List 1 List-11
(Compound) (Colour)
A. Urea 1. Blue
B. Hydrous copper 2. White

sulphate
C. Lead sulphide 3. Pinkish purple
D. Potassium 4. Black

permanganate
Code :
A B C D
(@ 2 1 4 3
®) 2 4 13
) 3 4 1 2
d 3 1 4 2

The radius of a hydrogen atom is 10'* m.
Number of hydrogen atoms necessary to
have a length of one nanometre is :

() 6.023 x 102
(b) 10

© 5

(d) 100

The next ftwo (02) items are based on the
following Table :

No. of students studying in different standards
of 6 different schools

tandard
School I i m | Iv V| VI
A 42 54 | 48 | S8 50 38
B 50 | 60 | S8 | 45 45 | 46
C 40 | 48 | S8 | 46 42| 54
D 45 55 | 46 | 40 521 50
E 48 55 | 44 ¢ 55 52 ] 48
F 51 52 | 4| 42 60 | 54

(Contd.)




73.

74.

75.

gfd qa® 261 & AR 3005 F @ FA
T wHEE i iy waw 281 % R/
FH FAF F FHERA A sfewmar A
T sfaT & ?

(a) 36.9%

(b) 153%

(c) 24.6%

(d) 282%

freafofea ael ¥ @ :19 @1 & s

- (@A) waE-ar ¥ watw AE 2 7

(a) IGHSEHT O 1 Fevy =
(b) w@ wR¥y & Prfgs

() yat =1 g & uf@: qfymo

(@ g # gsc-anf 3 W @ wfedd)

LI CEE|

TR-I N TA-11 ¥ gafera Afig gar gia
& A Re Tu 2 & w@m 9 I
e .
gHl-1

-1l
(gt (saRafa)
gFI) |
A TEQ (fiTs) 1. FERfmn
RRl Sl
B. Py waeme® 2. Wi
C. wmet #5 3. &4
D. ®-3awe &7 4. fchd==
BT
A B C D
(@) 2 1 3
b) 2 1 4 3
) 3 1 4 2
d 3 4 1 2

77.

IR G-I q qul
?ﬁ% i%qsirq HT H uﬁaﬁ IR
T

-] -1l

(arfn) (1)

A gfa 1. e

B. wdlil@ & 2. w&a
HohT

C. s §oHEs 3. TS

D. urefimm 4. FI

HAT -

kS
A B C D
(@ 2 1 4 3
b 2 4 1 3
) 3 4 1 2
@ 3 1 4 2
T FRGNA T F B 1070 m A
21 T Aniey d@E ¥ @ g g
w BISQI T &t g fa
(a) 6.023 x 107
(b) 10
() 5
@ 100

IR ¥ (02) vEw Peafafee afer «w
amafa & .

6 i el A Rt waml § WY @@

BEAT H @
Gl
- Ly | v, v|v
A 42 | 54 | 48 | 58 | 50| 38
B 50 | 60 | S8 | 45 | 45| 46
C 40 | 48 | 58 | 46 | 42| 54
D 45 | sS | 46 | 40 | 52| s0
E 48 | S5 | 44 | 55 | 52| 48
F 51 | 52 | 54 | 42 | 60| 54
(Contd.)




78.

79.

80.

What is the average number of students
studying in Standard I from all schools
together ?

(@ 50
(b) 48
(c) 43
(d) 46

What is the respective ratio of students
studying in Standard III of schools A and B
together to those studying in Standard VI of
schools C and D together ?

(a) 53:52

(b) 43:47

(e) 25:27

@) 39:38

Match List-I with List-II and select the
correct answer using the code given below
the Lists : '

List-1 List-1I
(Landform feature) (Location)
A. Alluvial fans 1. Mountainous
Areas

B. ‘V’-shaped 2. Coasts

valleys

C. Deltas 3. Lower Reaches
of the river

D. Ox-bow lakes 4. Mountain
Foothills

Code :

A B D
(a 4 1 2 3
b 4 2 1 3
(c) 3 2 1 4
d 3 1 2 4

81.

82.

Match List-I with List-II and select the
correct answer using the code given below

the Lists :

List-1 List-II
(Tropical Cyclone}  (Location)
A. Cyclones - 1. USA
B. Hurricanes 2. East Asia
C. Typhoons 3. Australia
D.. Willy-willies 4. India
Code :

A B C D
(a) 4 2 1 3
b 4 1 2 3
c) 3 | 2 4
d 3 2 1 4

Match List-I with List-II and select the
correct answer using the code given below
the Lists :

List-1 List-11
(Element) (Application)
A. Isotope of 1. Treatment of
Uranium cancer
B. Isotope of 2. Treatment of
Cobalt goitre
C. Isotope of 3. Treatment of
lodine secondary cancer
D. Isotope of 4. Nuclear fuel
Radium
Code :
A B C D
(@ 3 2 1 4
b) 4 2 1 3
(c) 4 1 2 3
d 3 1 2 4

(Contd.)




78, W g ¥ P wen ] ¥ v BI. AL A AR g A g

79.

80.

ol # Aed wem w; R 7

() 50

(b) 48

(c) 43

(d)y 46

T AR B frame Fa1 ¥ w7
T B F, wHE C IR D F e
FG VI® 1 I @) @) gen ¥
Iy & ?

(@) 53:52

(b) 43:47

(c) 25:27

(d) 39:38

IR G- gafea A qan i
# ¥ Ry 1 Hiz & v s ad I

P
g1

_ -1l

(q-arefa fafdrscar) (3raf&afy)

A @E gE 1. wEdm &%
(Tefame Bewr)

B. ‘V-I&R 2. Yz qT
gifear

C. 371 3. 74 & et

Gerra

D. =9 4, uddm urefify

i I
A B C D

(a 4 1 2 3

(b) 4 2 1 3

) 3 2 1 4

d 3 1 2 4

82.

& A9 Re U He w1 @ Fwoad I
T
g1

g1l
(Il gy (el )
9Hard) :
A. THamd 1. USA
B. w7 2. 9@ aftmn
C. ergd 3. e feran
D. ffo-Rfes 4. W
| A
A B C D
(a) 4 2 1 3
(b 4 1 2 3
(c)y 3 1 2 4
d 3 2 1 4
-1 g1 & gafm A qor g
# 7 Ry e 1 @ w1 ad I

-1
() (337am)
A qfFaw # |, #ET FT ITR
eI
B. ®Eiee & 2. AMIS BT
LEIHEED ELE TS
C. 3m@dT &7 3. fadhs dux
e e & JTE
D. eum = 4. AT fga
SRS HE 1
T :
A B C D
(a) 3 2 I 4
(b) 4 2 1 3
€ 4 1 2 3
@ 3 1 2 4
(Contd.)




&3.

34.

8s.

86.

Hemocyanin is an oxygen-transport
metalloprotein present in some invertebrate
animals. This protein contains :

(a) one copper atom
(b)
(c)
(d)
‘A", ‘B’ and ‘C’ started their independent
businesses with equal amounts of capital.
During the first year ‘A’ made 10% profit,
‘B’ incurred 10% loss and ‘C’ made a profit
of 5%. In the second year ‘A’ incurred 20%
loss, ‘B’ made profit of 20% and ‘C’ made

profit of 5%. Wh‘ich of the following is
FALSE at the end of second year ?

()
(b)
(c)
(d) ‘C’isricher than ‘B’

two copper atoms
one iron atom

one magnesium atom

‘C” is the richest
‘A’ is the poorest

‘B’ is the richest

At what time between 2 and 3 will the hour
and minute hands of a clock be 12 minutes
divisions apart ?

(a)
(b)
(©)
(d) _
Which of the following statements with

regard to the continental shelf is NOT
correct ? '

(a)

20 minutes past 2
24 % minutes past 2
24 minutes past 2

2412 minutes past 2

Shelves are absent close to plate
boundaries

(b) They are highly sedimented

(c) They have abrupt falls towards the

continental slopes

(d)

They are rich fishing areas

87. Arrange the following National Parks of

India from North to South direction :
1. Indravati National Park

2. Nagarhole National Park

3. Corbett National Park

4. Madhav National Park

Select the correct answer using the code

given below :
(a)
() 2,1,4,3

(¢) 3,4.1,2

1,3,2,4

(d 2,3,4,1

Which one of the following statements is

correct ?

(a) Iron sulphate and copper sulphate
crystals have same number of water of

crystallization

(b) Ironsulphate and zinc sulphate crystals
have same number of water of

crystallization

(c) Zinc sulphate and copper sulphate
crystals have same number of water of

crystallization

Iron sulphate, copper sulphate and zinc

(d)
sulphate crystals each have same

number of water of crystallization

(Contd.)




83. ERERMAA WF IHRITA-AHA  HIdT
YA 8 W §© AR Sqa A e
B B o NEA N o A § 7
(a) T& @ TEH
(b) T A T
(c) T @ (IA) IO
(d) T AT g

84. ‘A", ‘B’ 3 ‘C' A ®AM YN o
FYAT-I9AT AFEE TR frar | gem st &
‘A’F 10% FT A FATT, ‘B’ H 10% 3T
gt g2 3R ‘«C’ R 5% T A FAmT
fadia af & <A” = 20% =t w1y g2, B’
B 20% AV A ST C’ W 5% AW
gan | fodm af & weq ¥, freafofea &
§ a9 W AT ?

(a) ‘C’ w98 I4F gTaT 2
®b) ‘A usd HqYH THE B

(¢) ‘B’ §a& 3+ gmarT 2
@ C’,‘B’¥ & uAaT B

85. 28 3aw & v fhg g9w w fadt whh
N w2 i fmme A gl & @im
12 AT 9w &1 sqe @ 7
(a) 2 @9 20 fime o
(b) 2 9HT 245 e w
() 2 F9HT 24 9T W
(d) 2 &9 2442 AT =

86. Wewerdm 91ew & ey ¥ Freafifeg Fu=Y

¥ % a9 a1 F wé T 2 ?

(a) Q- d free Aow femE
T8 Bt ‘

(b) ¥ Ul Iqurdl (AfH2s) ot 2

(c) AeEdT Bl @t AT ITN WedT UaA
B B

(d) ¥ 99g woeg &% A ¥

87. wia & Preaffm Iwmaw ol F oI
¥ gl feam # AR wHag IR

1. ges1adl AvAd Ua
2. ATRE A9AA 9
3. Hide AIAA T

4. HYgd ATAA 9B

T Ru g Fz #F gum F FE I

(@ 1,3,2,4

(b) 2,1,4,3

(c) 3! 4! 1?2

@
Preafafes saf & & =19 @1 @& @@
27

(a) WA ®edhe WX FC dFhe P
el o fheed -9 & g9 dEar
gt &

IO e AT BT aohe & feeal
¥ fheea-9d & g9 gen Bt 8
RNiF gede I wiox avde 3 freed
A freeaa-oa # ga9 d@r ) @

2,3,4,1

88.

(b)
(C).
A Fohe, PO goke I N+

Tohe, IS & ool o freeo-sa
# A d@n B 2

(d)

(Contd.)




89. Match List I with List Il and select the

91.

correct answer using the code given below
the Lists :

List-1 List-Il
(Scientist) (Area of study)
A. 1.D. Watson 1. Microbiology
B. Louis Pasteur 2. Taxonomy
C. Carl Linnaeus 3. Molecular
Biology

D. Charles Darwin 4. Evolution
Code :

A B C D
(@ 4 2 1 3
(b) 4 1 2 3
c)y 3 1 2 4
@ 3 2 1 4

If in a certain language NEOMAN is coded

- as OGRQFT, then ZKCLUP is the code of :

(a) YJBKTO
(b) YIZHPJ
() YIAQKJ
(d) YIZIRM

In an examination, there are three subjects
‘A’, ‘B’ and ‘C’. A student has to pass in
each subject. 20% students failed in ‘A,
22% students failed in ‘B’ and 16% students
failed.in ‘C’. The total number of students
phssing the whole examination lies
between

(a) 42% and 84%

(b) 42% and 78%

(c) 58% and 78%

(d) 58% and 84%

92.

93.

94,

Which one among the following is NOT a

minor platé ?
(a) Nazca

(b) Arabia

(c¢) Philippines
(d) Antarctica

The trees of tropical rainforest have buttress

roots because :
(a)
(b)

they help to provide aeration to soils

the organisms found in the buttresses

have a symbiotic relationship
()
(d)

the trees belong to gramineae family

the buttresses have to bear the

mechanical load of hardwoods

It is reported that there is an ongoing

decrease in the pH value of ocean water

because of global warming. It happens due

to:
(@
(b)
(c)

larger uptake of CO, by ocean water
lesser uptake of CO, by ocean water

larger uptake of atmospheric nitrogen

by ocean water

(d)

- lesser uptake of atmospheric nitrogen

by ocean water

(Contd.)
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89. TH-1H -1 ghfem A gt

& ¥ Ru e Fiz w1 @ T FE I

qMT
-1 11
(@) (3reraT #1 &A)
A. & dfear 1, gEASTam
GIFEACILISIEY!
B. g wwax 2. affew fawe
(E=TR)
C. Fd Rrate 3. e e,
GUREREE
EILIEIE])
D. 3wd sifdA 4, Rww
T{? :
A B C D
(a) 4 2 1 -3
(b) 4 1 2 3
) 3 1 2 4
@ 3 2 I 4

90. ufz &) fR=m st ¥ NEOMAN #t

91.

OGRQFT ¥ wewsg frur @@ 8, @
ZKCLUP 5w s & 7

() YJBKTO
(b) YIZHPJ
© YIAQKJ
d) YIZIRM |
Rt wdem ¥ ‘A, ‘B’ AR ¢’ @ R

¥ Rl ot o @ weft RmEl ¥ ool

BT raTES B 1 20% BUr ‘A H eyl
g, 22% O7 ‘B’ ¥ arivl g A 16%
o ‘C’ ¥ v gui wegul wden ®
Il & A ol gA e e
da 2 7

(@) 42% 3R 84%

(b) 42% AN 78%
(¢) 58% X 78%
(d) 58% AT 84%

92.

93.

94.

Praffee & & ff7 @@, @y T

(AR QAT) T7E 8 7

(a) AT

(b) srfm

(c) foferdg

(d) TreTEREE

JuFEREdy avtad 3 g F gwes

(3w wc@) s &, FfE

@ ¥ ga1 ¥ ag-fmw $7 A WS
Ul

(b) T wEi ¥ 9 9 I el A
gedlidl d6" Bd 3

(c) 3u, M @ (Fch) | dg B
[

(d) T ST FT -G H I HET
(ASPrde-dIs) 98T FON TS B

Far e fer mm @ % spEscl A

# @ @ s & pH A # e

w0 8 W 21 TWF IR .

(@) WA 9 g CO, F IeTF How
IET B

(b) EIH S g CO, F FeFa FH

I 2

(c) I W@ F AEOSAY AR
&1 eFd AUF IqueT B

(d) o 9 T AYHTSEHT  ATIIHA
& NG T IeN 2

(Contd.)




. 95. Match List-I with List-II and select the

96.

correct answer using the code given below
the Lists :

List-1 List-11
(Day) (Occasion)
A. 11* July 1. Human Rights
Day
B. 5% June 2. Hiroshima Day
C. 6% August 3. International
Environment
~ Day
D. 10" December 4. World Population
Day
Code :
A B C D
@ 1 3 2 4
® 1 2 3 4
¢y 4 2 3 1
d 4 3 2 1

65% students in a class like cartoon movies,
70% like horror movies, and 75% like war
movies. What is the smallest percent of
students liking all the three types of

movies ?
{a) 10%
(b) 25%
{c) 30%
{d) 5%

97. Consider the following diagram :

98.

99.

Statement |

A

A
1\,

C

B

If the number of elements in ‘A’ is twice the

number of elements in ‘B’, then X is :

(a) 78

(b)y 93

(c) 94

(d) 108 :

From which among the following pairs of

species, a small quantity of fine quality wool

1s obtained in India ?

(a) Pashmina goats and Angora rabbits

(b) Pashmina rabbits and Angora goats

(c) Pashmina rabbits and Angora sheep

(d) Pashmina goats and Angora sheep

The following item consists of two

statements, Statement [ and Statement II.

Examine these two statements carefully and

select the correct answer using the code

given below :

Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is NOT the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement Il is
true

.- All the energy received by the

earth is from the Sun through
electro-magnetic radiation

Statement I : The earth also radiates back all the

received energy through various
ways to maintain the heat budget
of the planet

(Contd.)
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95.

96.

Fﬁﬂ-lﬁ -1 & gafom AR qur gy
& A Ry 1T Fiz #1 y@m # wd Iw

TfT -
-1

g
(f27) - (EE)
A. 11 9arg 1. AFaETesR Raw
B. 51 2. RBaRmr Raw
6 T 3. AU gulatw
Raw
D. 10 fRewx 4, fawa s€@m
Rag
< .
A B C D
(@ 1 3 2 4
® 1 2 3 4
() 4 2 3 1
@ 4 3 2 1

feh wen ¥ 65% o w1 IwfuA vEw
w1 E, 70% B SER EALERNCIESY
oY) TEe w3 &, IR 75% o g@
T (3 gfY) wwe s ¥ A
TR R FARA B GGG FE AX BE
N AYH giowear Fr 2 7

(a) 10%

(b) 25%

(c) 30%

d) 5%

97.

98.

99.

freafafas se o Rax $Iif

-

C
R AH Fd A e, B R gl an
vem § QAT 3, A X # oA dw g 7
(a) 78
() 93
(c)y 94
(d) 108
e H, el 3 ¥ v o wiefe-gm
q o9 TUERT Al FA AT NG AAT YT
grdr 8 7
(a) wepfAT FwREl R sl wanw
(b) TR @ony AT M
(c) o womw &R s A9
(d) v SFREr st s 9%
freafafae woiwr & @ wuT E
AT FF-11 | 34 AA7 FIAT F Fraar
¥ wlen sy IR D Re 1w Fe =
T ST T FEATE & IAT gAY
7T
(a) o & FUF FT-AT T &, IR
;ﬂrﬁ—n, FYF-] FT G TSR]
(b) AT & waT IoTm-am wew ¥, frg
;W—H,W—Iﬂﬂﬁwmﬂﬁ
(c) $¥9-1 U 2, fFg FU3-I1 39 &
(d) FuF-1 3wy B, fFg Fum-11 sau B

gl K g B3 Al amed
Fai g ¥ Igagesm ol B
qe | rdr @
FOA-1 : gt o,y F Fw-FEe A
FAT @1 * g wEw ura
ot B A g A A ARG
G

Y]

YA~

(Contd.)




100. Which one among the following substances

101.

102.

103.

is NOT a ‘green house’ gas ?
(a) Water vapour

(b) Chlorofluorocarbon
(¢) Methane

(d) Nitrogen

Ozone layer depletion is a major phenomenon
in:

(a) Troposphere
(b) Stratosphere
(¢c) Thermosphere
(d) Exosphere

29" February of the year 2000 was Tuesday.
After this date how many times 29%
February falls on Tuesday in the whole

century ?
(a) 3
(b) 4
(c) 5
(d 6

How many numbers from 1 to 1000 are there
which are NOT divisible by any of the digits

2,3and S5 7?

(@) 166

“(b) 266

104.

(c) 357
d) 366

Which one among the following plains is
associated with Limestone Topography ?

(a) Bajada plain
(b) Alluvial plain
(c) Karst plain

(d) Pene plain

105.

106.

107.

108,

109.

Regur soil is most suitable for the cultivation
of :

(a) Groundnut
(b} Cotton

(¢) Tobacco
(d) Sugarcane

The hydrogen atoms present in acetylene
molecule are :

(a) acidic

(b) basic

(c) both acidic and basic
(d) neutral

Which one of the following compounds is
NOT considered an acid ?

(a) BF,
(b) AlCL,
(¢) NH,
(d) C.H,OH

Which one among the following is the
correct order of west flowing rivers in terms
of decreasing size of their river basins ?

(a) Narmada— Tapi — Sabarmati -— Mahi
(b) Tapi — Narmada— Mahi — Sabarmati
(c) Sabarmati— Narmada— Tapi — Mahi
(d) Narmada— Tapi— Mahi — Sabarmati

Which one among the following States is
the leading producer of petroleum (crude)
in India ?

(a) Assam

(b) Gujarat

(¢) Maharashtra
(d) Andhra Pradesh

(Contd.)
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100.

101.

102.

103.

104.

fPrefafee wef # & &7 w, WA
geg’ Mg A9 2 7 -
(a) SICT-dTSH

(b) FAATRAIFTE

(c) AAA

(d) ARG

AT TX@ F A N A7 Al qo
gftgedr & 7

(a) #MwsT (QrfeER)

(b) EHaHSA (e

(c) W&l ATgHSH (AHHUR)

(d) aferfeq (TrmfeaR)

s 2000 F 29 FEH H HOCER 91| T4
R # uyrar, @ v ® fhadt S
29 @l HerE A qeift ?

(a) 3

(b) 4

(c) .5

(d) 6

13 1000 @® ¥, 2,33MT 5@ fawfaa
7& 83 arch frah derd & 7

(a) 166

(b) 266

(¢} 357

(d) 366

Prfafea A= & @ =7 91 @, -7

wagla § deta 2 7
(a) WmETEl AR '

(b) ERICARC AL
(c) ¥ AaA
(d) Y3 AT

105.

106.

107.

108.

T g e Y & R alfis R
B ? 7

() e

(b) &IE

(c) TqHIH

(d) =T

wifecd oy ¥ Rgme g @A
T 8 8 7

(a) =iy

(b) &y

(c) v X arfm A

(d) e

Preffaa e & @ @9 @1 @, I
1 L

(a) BF

(b) AICI,
(c)

NH,

d) CHOH

Prafafee ¥ @ #9991 w, d¥gw &
AT g areh Al &1, ITF AQ-ARA
® YTY WHNT F FUR G, W& FTHA 8 7
(a) A — aft — WA — AR
(b) a® — T — AH — FEEA
(c) FETIR — AHG — aft — =&
@ Ta — aft — WA — e

109. v ®, Preafafeg wdl & @ &9 W

w, Yo (Ifa) w1 sl Icues
g 7?
(a) ¥EH
(b) TITT
(c) HeTlsg
(d) Hgyem
(Contd.)




110. Which one among the following States is

111.

112.

113.

the leading producer of salt in India ?
(a) Rajasthan

(b) Gujarat

(¢) Tamil Nadu

(d) Andhra Pradesh

Movement of outer electrons in the inner

orbits of an atom produces :
(a)
(b)

o-ray
B-ray
(c)
(d

y-ray

X-ray

y-ray consists of :

(a) meson particles

(b) neutrino particles

(¢) Higg’s boson

(d) electromagnetic waves

The heaviest element known up till January

2015 has the atomic number :
(a 117
(b) 118
(c) 119

d 120

114,

115.

116.

Statement I

Statement 11

Consider the following statements relating

to cyclone, anti cyclone and trade wind -

1. The wind direction is clockwise in the
cyclone of northemn hemisphere

2. The planetary wind that blows from
north-east to north-west is known as
north-east trade wind

3. The wind direction is anti clockwisc
in the anticyclone of southern
hemisphere

4. Both westerlies and trade winds
originate from sub-tropical highs

Which of the statements given above is/are
correct 7

(a) 3and4 only

(b) 1,3and 4

(c) 4 only

(d) 1,2and3
‘Evaporites’ is :

(a) arock

(b) a metcorite

(c) a brackish water pan
(d) an evaporimeter

The following item consists of two
statements, Statement I and Statement Il
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

Both the statements are individually
true but Statement IT is NOT the correct
explanation of Statement I

Statement I is true but Statement II is
false

Statement I is false but Statement I is
true

(b)

©
(d)

: The Indian Ocean Tsunami
of 2004 occurred along a
subduction zone along west
coast of Sumatra

: Along the Sumatra coast the
Indo-Australian Plate converges

below the Eurasian Plate
(Contd.)




110. wreg &, feefofea w=af & @ =19 @

111

112,

113.

TH, AHEG F YN IcuEE: & 7

(a) Ve

(b) T
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118.

117. Consider the following pattern :

4

i

The embedded figure in the given pattern

15 :

(a) /\
%

(®

(c)

(d)

Which one of the following series of letters
follows a pattern and is different from the
rest ?

(a ADHMSZ
) BEINQX
(¢) DGKPUY
(d CF10SZ

119.

120.

121.

The age of ‘E’ is twice the age of *S’.
To find out the difference in their ages,
which of the following information is/are

sufficient ?

[.  After five years, the ratio of their ages
wouldbe 9: §

II. Before ten years, the ratio of their ages

was3:1
(a) Oniyl
(b) Oniyll
(c) Eitherlorll
(d) Bothl .and Il

Two racing cars of masses m, and m, are
moving in circles of radii r, and r,
respectively. Their speeds are such that each
car makes a complete circle in the same time
‘t’. The ratio of angular speed of the first to

that of the second car is :

(@) m; ' m,

(b) 1:1

(€) r:,

@ 1:2

Heavy water of an atomic reactor is :

(a) deionised water

(b) an oxide of heavier isotope of oxygen

(c) a mixture of ice and water

(d) an oxide of heavier isotope of

hydrogen

(Contd.)
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(b) Faa II

(c) I & Ia Il
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120. g<0dq14 ml3h'( ml?ﬂ'ﬁﬁﬂmﬁ

FA0. r, 3R 1, Brew 9@ g W= @
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(b) 1:1
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(2) fasmufya (Raifarses) oo

(b) FFeE F IenFd W EEetTE
F TH HFELS

(c) % I v &1 fAww
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122. In a radioactive decay of a nucleus, an
electron is also emitted. This may happen
due to the fact that : '

(a) electrons are present inside a nucleus

(b) an clectron is created at the time of
conversion of a neutron into proton

(¢) an electron is created at the time of
conversion of a proton into a neutron

(d) electrons need to be emitted for
conservation of momentum

The next three (03) items have two premises and
two conclusions. If the premises are assumed to
be true (irrespective of factuality), then, in respect
of each of the items given below, which of the
following conclusions follow logically ?

(a) OnlylI

(b) Only II

(c) BothlandII
(d) Neither I nor II

123. Premises

Conclusion :

124. Premises

Conclusion :

125, Premises

Conclusion :

All metals are grey in
colour. Some metals are
heavy.

I. All heavy metals are
grey in colour.

II. All light metals are not
grey in colour.

All film stars are
playback singers. All film
directors are film stars.

L. All film directors are
playback singers.

II. Some film stars are film
directors.

All apples are golden in
colour. No golden coloured
things are cheap.

L. All apples are cheap.

II. Golden coloured apples
are not cheap.

(Contd.)
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Note : English version of the instructions is printed on the front cover of this Booklet.




